
WALL MOUNT
CAMERA BY DIV.11

MOUNTING PLATE
BY DIV.11

DEVICE WIRING
BY DIV .11

ONE GANG BOX
BY DIV.11

CONDUIT BY
OTHERS

WIRELESS
MIC

WIRELESS
MIC

1/2 WAVE RECEIVE
ANTENNA BY DIV.11
ANT BACK BOX
BY OTHERS

CONDUIT TO AV
RACK BY OTHERS

FRONT (PLATE) VIEW

CONNECTIONS FOR
ALS SIGNAL BY
DIV.11

PLATE MOUNTED
BNC CONNECTOR
BY DIV.11

4 GANG CONNECTION
PLATE BY DIV.11

SIDE VIEW

ALS
ANTENNA

RF ANTENNA
BY DIV.11

PLATE MOUNTS
TO 2 GANG BOX

AV AND POWER BOX

COLUMN LINE ARRAY

CONDUIT

HINGE MOUNT SPEAKER
BRACKET AND CUSTOM
EXTENSION MOUNTING

BRACKET BY DIV. 11

90°

PROVIDE PLYWOOD
BACKING/ BLOCKING
WHERE NEEDED BY

OTHERS

PLAN VIEW

HINGE MOUNT DETAIL

30

8

25

150

34 34

43 31

21
1123

00

CABLES FROM CONDUIT TO
CABLE TRAY

CONDUITS TERMINATED IN
CEILING AFTER BEND

POWER + DATA BY OTHERS
AT 2300mm AFF

25
00

450mm CABLE TRAY (BY OTHERS)
MOUNTED 450mm ABOVE AV RACK

AV RACK BY
DIV.11

MULT 6x6x4 BOX - VIDEO STUDIO
NOTES:
MATERIAL:  2.54mm ALUMINUM; CHAMFER FACE EDGES APPROX. 3.175mm AT 45 DEG.
FINISH: HARD ANODIZED - COLOUR TBD
HOLES: COUNTERSUNK FOR #6 OVAL HEAD SCREW
LETTERING: ENGRAVED - WHITE FILLED
CONNECTORS: PROVIDE A MAXIMUM OF 9 D-TYPE CONNECTORS FOR A PLATE THIS SIZE
SIZE: 152mm x 152mm

SUPPLIER TO CHECK BACKBOX SIZE WITH ELECTRICAL CONTRACTOR

7

SDI - XX

CONTROL NET - XX

MIC/LINE IN - XX

INTERCOM A - XX

1

3

2

VIDEO NET - XXAUDIO NET - XX

1

3

2

INTERCOM B - XX

1

3

2

LINE OUT - XX

1

3

2

STAGE FLOOR BOX - ATRIUM
NOTES:
BASED ON LEGRAND EVOLUTION SERIES FLOOR BOX
MODEL: EFB6S-OG
FINISH: BLACK DIE CAST ALUMINUM COVER (COLOUR TO BE CONFIRMED WITH CLIENT)
HOLES: COUNTERSUNK FOR #6 OVAL HEAD SCREW
LETTERING: ENGRAVED - WHITE FILLED
SIZE: N.T.S.
ALL ADDITIONAL CONNECTOR PLATES, CONDUIT KNOCKOUT PLATES AND FLUSH STYLE COVER WITH SOLID LID TO BE SUPPLIED WITH FLOOR BOX

6

A
UD

IO
 N

ET
 - 

XX

A
UD

IO
 N

ET - XX

1

3

2

M
IC

/LIN
E - XXM

IC
/L

IN
E 

- X
X

254.2mm
 [10"]

MULT 10x10x4 BOX - ATRIUM
NOTES:
MATERIAL: 2.54mm ALUMINUM; CHAMFER FACE EDGES APPROX. 3.175mm AT 45 DEG.
FINISH: HARD ANODIZED - COLOUR TBD
HOLES: COUNTERSUNK FOR #6 OVAL HEAD SCREW
LETTERING: ENGRAVED - WHITE FILLED
CONNECTORS: PROVIDE A MAXIMUM OF 30 D-TYPE CONNECTORS FOR A PLATE THIS SIZE
SIZE: 254mm x 254mm

SUPPLIER TO CHECK BACKBOX SIZE WITH ELECTRICAL CONTRACTOR

6

1

3

2 1

3

2

FLOOR BOX 1 I/O

1

3

2

1

3

2

MAIN LEFT

1

3

2

MAIN RIGHT

1

3

2

S. ATRIUM

1

3

2

SDI - XX

1

3

2

LIN
E O

UT - XX

A
UT

O
 M

IX
 - 

XX

1

3

2

V
ID

EO
 N

ET
 - 

XX

C
O

N
TRO

L N
ET - XX

VI
D

EO
 O

U
T

VI
D

EO
 O

U
T

C
O

N
TR

O
L

VI
D

EO
 O

U
T

JB (2) FUTURE VIDEO BOX - ATRIUM
NOTES:
MATERIAL:  2.54mm ALUMINUM; CHAMFER FACE
EDGES APPROX. 3.175mm AT 45 DEG.
FINISH: HARD ANODIZED: COLOUR TBD
HOLES: COUNTERSUNK FOR #6 OVAL HEAD SCREW
LETTERING: ENGRAVED - WHITE FILLED
CONNECTORS: PROVIDE A MAXIMUM OF 4 D-TYPE
CONNECTORS FOR A PLATE THIS SIZE
SIZE: 114mm x 114mm (2 GANG)

SUPPLIER TO CHECK BACKBOX SIZE WITH
ELECTRICAL CONTRACTOR

5

FLOOR BOX 2 I/O

FLOOR BOX 3 I/O

SD
I I

N
 - 

XX

SD
I O

UT - XX

IN
TE

RC
O

M
 A

 - 
XX

IN
TE

RC
O

M
 B

 - 
XX

C
O

N
TR

O
L 

N
ET

 - 
XX

V
ID

EO
 N

ET
 - 

XX

A
UD

IO
 S

EC
 - 

XX

A
UD

IO
 P

RI
 - 

XX

SD
I O

UT
PU

T 
- X

X

WIRELESS MICROPHONES

C
O

N
TR

O
L

VI
D

EO
 O

U
T

PTZ (2) BOX - ATRIUM
NOTES:
MATERIAL: 2.54mm ALUMINUM; CHAMFER FACE EDGES
APPROX. 3.175mm AT 45 DEG.
FINISH: HARD ANODIZED: COLOUR TBD
HOLES: COUNTERSUNK FOR #6 OVAL HEAD SCREW
LETTERING: ENGRAVED - WHITE FILLED
CONNECTORS: PROVIDE A MAXIMUM OF 4 D-TYPE
CONNECTORS FOR A PLATE THIS SIZE
SIZE: 114mm x 114mm (2 GANG)

SUPPLIER TO CHECK BACKBOX SIZE WITH ELECTRICAL
CONTRACTOR

8

ANT (4) BOX - ATRIUM
NOTES:
MATERIAL: 2.54mm ALUMINUM; CHAMFER FACE EDGES
APPROX. 3.175mm AT 45 DEG.
FINISH: HARD ANODIZED: COLOUR TBD
HOLES: COUNTERSUNK FOR #6 OVAL HEAD SCREW
LETTERING: ENGRAVED - WHITE FILLED
CONNECTORS: PROVIDE A MAXIMUM OF 8 D-TYPE
CONNECTORS FOR A PLATE THIS SIZE
SIZE: 240mm x 114mm (4 GANG)

SUPPLIER TO CHECK BACKBOX SIZE WITH ELECTRICAL
CONTRACTOR

7

W
IR

EL
ES

S 
M

IC

W
IR

EL
ES

S 
M

IC

AL
S 

AN
TE

N
N

A

1

3

2

FLOOR BOX 4 I/O

SDI - XX

SDI - XX

SDI - XX SDI - XX

SD
I I

N
TP

UT
 - 

XX

SD
I O

UT
PU

T 
- X

X

SD
I I

N
TP

UT
 - 

XX
SD

I I
N

TP
UT

 - 
XX

SD
I I

N
TP

UT
 - 

XX

CUSTOM MULT BOX (MULT CUST)
NOTES:
USED FOR STAGE LEFT, STAGE RIGHT, AND SOUTH ATRIUM COLUMN
LOUDSPEAKERS

NOTE THAT ONLY STAGE RIGHT MULT CUST BOX CONTAINS THE TOUCH PANEL
CONTROL NETWORK RJ45 CONNECTION

FINISH: PLASTIC (COLOUR TO BE CONFIRMED WITH CLIENT)
SIZE: N.T.S.

6

CONTROL NET - XX

1

3

2

CONTROL NET - XX

LINE LEVEL - XX

AUDIO PRI - XX

TOUCH PANEL

AUDIO SEC - XX

1.

1.

T
R
U
E

N
O
R
T
H

PROJECT
NORTH

Soumission

Administrateur de projets TPSGC

no. du projet

no. du dessin

project number

drawing no.

PWGSC Project Manager

Tender

approved

date

drawn

date

designed

date

approuvé

dessiné

conçu

drawing

project

dessin

projet

revisions date

C

C

100

C

PWGSC A0 (2004)

20mm0 10 6040 80 140120 160 200mm180
E-DRM/GDD-E:

Travaux Publics et
Services gouvernementaux

Public Works and
Government Services
Canada Canada

key plan

G
R

AF
TO

N
 S

TR
EE

T

KE
N

T 
ST

R
EE

T

project and true North

project legend

2171 Avenue Road, Suite 105
Toronto, Ontario, M5M 4B4

P: (416) 761-9622
F: (416) 761-9616

2022-01-19

NOVITA

NOVITA

CB

AV5-01

2014

2022-05-20

DETAILS

2022-01-18

DANIEL J MACDONALD
MODERNIZATION

161 GRAFTON ST.
CHARLOTTETOWN, PEI, C1A 1L1

N.T.S.

Scale: N.T.S.

WALL MOUNTED PTZ CAMERA1 Scale: N.T.S.

WIRELESS ANTENNA BOX2 Scale: N.T.S.

COLUMN ARRAY LOUDSPEAKER3

Scale: N.T.S.

AV RACK W/ CABLE TRAY4

A ISSUED FOR 100% DD 2022-01-19
B ISSUED FOR 50% CD 2022-02-11
C ISSUED FOR 100% CD 2022-03-10
D RS-04 FINAL SUBMISSION 2022-03-25
E ISSUED FOR TENDER 2022-05-27


		2022-05-31T14:24:11-0400
	Wesolowsky, Michael




